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Solve the system of equations 5%x — 3y = 11 and
6x — 5y = 9.
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Find the equation of a straight line passing
through (9, 11) and (4, -5).

3 fagal (9, 11) R (4, _5) ¥ B T el @
T T FIR

A lending library has a fixed charge for three
first three days and an additional charge for each
day thereafter. Suman paid Rs. 27 for a book
kept for seven days, while Neha paid Rs. 21 for
a book kept for 5 days. Find the fixed charge

and the charge for each extra day.
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Find the length of the perpendicular from the

point (3, 4) on the line 2y = X.

¥ 2y = x W g (3,4)%a'aﬁ’rﬁamﬁl
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Write your Roll No. on the top immediately on receipt
of this question paper.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Question No. 1 is compulsory.

Answer any two questions from question nos. 2 to 4.
All questions carry equal marks.

Use of calculators is not allowed.

Mention the Vedic Mathematics Sutra and Subsutra

used to solve the question.
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1. Attempt any four of the following :

e % 4 o ar v it

(i) Solve for x: (x+7)(x+9) = (x +3)(x |1

X I AT I FY (x+ 7 +9) = (x+ 3)(x +21)

(i)} Find the HCF of 156, 231 and 99,
156, 231 3R 99 & TThNE FT T

: ; ! -1 3
(i) Find determinant of the matrix : [ 5 2}
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(iv)
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What is the Sammuccaye in the equation
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Solve for x and y: 12x + 78y =12 and 16x + 96y =
16.

X 3 y T AT AT R 12x + 78y =12 and
16x + 96y = 16,

Find the inverse of the following matrix.

AT e T e
0 -1
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Find the LCM of the following numbers 48, 72
and 108.
fefas aemst 48, 72 3tk 108 Eoierries i o
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